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456. LetY, < Y, < Y; < Y,bethe order statistics of a random sample of size
4 from the distribution having p.d.f. fix) = ¢ ", 0 < x < o0, zero elsewhere.
Find Pr (3 < ¥.).
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IEE Find the probability that the range of a random sample of size 4
from the uniform distribution having the pd.f. filx)=1,0<x < 1, zero
elsewhere, is less than .
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464, 1f a random sample of size 2 is taken from a distribution having p.d.f.
fix)=2(1 —x), 0 < x < 1, zero elsewhere, compute the probability that
one sample observation is at least twice as large as the other.
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1511. Let X and Y denote independent random wvanables with respec-

tive probability density functions f{x) = 2x, 0 < x < 1, zero elsewhere,

and g(y) = 3%, 0 < y < 1, zero elsewhere. Let U = min(X, ¥) and V=

max (X, ¥). Find the joint p.d.[. of U and V.
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